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1.frafaf@a # @ g dic & gdelr TR
# gRafda far o1 gear &

A. STETT

B. BREGRA

C. oW

D. 3iferdrsteT

Ans. A
Sol. *
converted into thin sheets because Zinc is

Here Zinc can be beaten and

metal and others are non metal.

* Metals are malleable and ductile.

* Therefore we can make copper wires and
aluminum wires. Non-metals are not
malleable. They are brittle and break into
pieces when they are beaten. Eg. Sulphur
and phosphorus. They are not ductile. Non-
metals cannot be made into thin wires like

copper or zinc can.

2. 3iTeFdISteT 3197 g |
A. THITATUTR
B. gfd-TRATH
C. B-RATH
D. g WATH

Ans. B

Sol. * HerdITel Ueh g cled & al AT Hr
AT AT § I1el, Aol 310] sRIeifas
37 &

*SRICIAS I 3T gl & foae weh &1 a1 3rorer
ded & &1 WA 81 &, 3eTeR0T- gTsgiele (Ho)
7 3TFeTeT (0,)1

3.U% Blel-dicesd T d Tegd A fAsafafad
H A FiT & 919 I § ?
A. Ig Te’ A & 1 T IR A §

=
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B. 38 SWRS f3¢del & & & 39T H orm
ST GehaT §

C. Ig YT & ST ol WY Hieidifecsd TaTT
ZarT faerelr # aRafda &war &

D. 75 fega 3ol & garer Fat # gRafda
AT

Ans. D

Sol. It converts electric energy into light
energy is false with reference to a photo-
voltaic cell. Photo voltaic cell is used to
convert the light energy into the electric
energy.

They are the building block of large solar

panel which are used for electricity purpose.

43TH T FiT A T Aer3d 39 A1 v oA

A &, S ISt R @ eI ager HeRd 82
Br,

A °n

B. OA

C.
D. CO

CHCLF

Ans. C

Sol. Dichlorofluoromethane was utilized as
a force and refrigerant, yet because of its
ozone exhaustion it has been set to be
has exhaustion

eliminated. It ozone

potential 0.04. Generation and utilization
has been since 2004 decreased to 15% of
level from 1989 and it is to be eliminated

in 2015 as per Montreal Protocol.

5.fFafafaa & & Fia o 919 T § 2

A. BI3EISTel & TRATY] feRas 1 & @ i
T fgTS 8 ¥ |

B. 3geRa\ &1 7l grEge FEdl ¢ |

C. 3ZRAA & WAV 7 vF =g g |
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D. WRTH BTSNl &I Teh GolsT FHEUTAh &

Ans. D

Sol.

¢ Protium is the rarest isotope of hydrogen
is false.

¢ Hydrogen without any neutron is protium,
Hydrogen with one neutron is deuterium
and Hydrogen with two neutrons is tritium.
¢ Protium is the most prevalent hydrogen
isotope, with an abundance of 99.98%.

6. Th YAy FEEdsl oY ¢ |
A. P-CI

B. Ne-Ne

C. CI-CI

D. Ca-CI

Ans. A

Sol.

o P-Cl T& 4dI Weddlsis St g

o AT HgHAloh ST H Folacled & 3TUNR
SolFgleTIlfeidel X & HRUT TS Solacld
mﬂmia’g’ammﬁl

o FANT H BREGRA H Jolall H AR
fegciadr gl 81 sder Ades § & ¢
U T & T Uh FUT H olaciar i
Yot W FAT 9gaR &1

7558 qeTd FI Ao @ wg FT T e g
ST 872

A. IS 3iTFETES

B. HIeTec 3iedarss

C. Hifazs 3iFass

D. 3R« 3HFAEs

Ans. B

A
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Sol. Adding Cobalt oxide gives blue colour
to glass. There are many chemicals which
gives different colour on addition such as
chromium gives green colour

8.#H3serse F TH IITH/GleTol
g |

A. IRfergA

B. sIfAIH

C. 3IRRA

D. ®ig

Ans. C

Sol. Magnetite is a very common iron oxide
(Fe3O4) mineral. It is the most commonly
mined ore of lIron. It is also the mineral

with the highest iron content (72.4%).
ad ‘ |

9.ATY INSAT & TFsiRe H U Adelad el
Tfaf@a 3 #§ sla @ a0 seder
g2

A. FIET AATFAES

B. &Iad SE3iFASS

C. grsgired

D. oWl SEAFASS

Ans. A

Sol. Majority of vehicles need oil/gas to
power its engines, allowing certain
mechanical and chemical reactions to occur
and run the vehicle. All that stuff that goes

on under the hood of a car (primarily the
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combustion of the fuel) releases a mixture
of gases and suspended particles, which
we collectively refer to as exhaust gas.
Carbon monoxide(CO) is a colorless,
tasteless and odorless gas and if exposed
to even a minuscule amount (0.0035%) of
carbon monoxide constantly for 6-8 hours,
one will start experiencing the initial
symptoms of carbon monoxide poisoning,
which include lightheadedness, confusion,
dizziness and headache.

10. AT dedl & @ foraehr oA FdEdr
fSier &1 Joralr & 3R ¢ 2

A. ST

B. 3MRReT

C. AT

D. sifAsT

Ans. D

Sol.

e Atomic number of Bromine (Br -35) is
greater than that of Zinc (Zn -30).

e The Atomic numbers of copper (cu), iron
(fe) and chromium (cr) are 29,26 and 24
respectively.

11.famafaf@a & & #ia @ 37 &, o e
T P FhHA TgT Fehell &7

A. N,O

B. AsH;

C. ssgrela
D. H,O

Ans. A

Sol.

o ASCH 3FASS 3Nl WA & Idell &=l
HehT gl
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o Uh U JEIYA ¥ Ul Joldl g foh TdATT &
N20 3cHold Udhe HeH Hgcaqul 3HSile-
&N Jery (ODS) 3chole § 3R 37dE §
o ag sFhradi ol § g9 937 WA

o ATSCH 3iTeFaTss, O AR W arfther 3w
T AR F FT H AT ST g

12 Fafaf@a d O siqar yafaftsr canfEes
T 31T §7?

A. S&hdrse

B. diarar

C. greirefiet

D. F15 JFdheT T&r &7 &

Ans. A

Sol. * Here Bakelite is a thermosetting
plastic.

* Bakelite was the first plastic made from
synthetic components.

* Bakelite creation was revolutionary for its
electrical nonconductivity and heat-resistant
properties in electrical insulators, radio and
telephone casings and such diverse
products as kitchenware, jewelry, pipe
stems, children's toys, and firearms.

13,337 et & @ fhed wrea foRar Sirar 872
A. aH

B. &ISS ofIcy

C. 3

D. surg

Ans. B

Sol.

* Wi v AT BreaR § S dhdr & ey
QIellST BIgsR & &1 B
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« W & F$ TER AR Is apfaw et S
WH, eof, FIE IR e & e 3R
geATde T Fhol T Tohd &1 AT & TEU gy
arel YRT 1 HEFET FIAA WA Fgl Al g
* YT Yy ofellel & §aIcl §, ACT &9 4
qHI & ¢ W, S TS T A golereher
i & aRafda g srar g1 i s fagfea
X far Srar § 3R v Ruee & aAregw @
33T §1TeT & folugaTa sTell SITdT § S Tt
T T 3 g g, ae aRumeeawy aererar
YCY AofellST & HATT Bl Ao glell &

14 9Teliepie Te=Ifaf@d & & forger &AsoT §72
A. IiforTee aar HI

B. UIfelteex dm 3o

C. Wl dur &urd

D. Tl AT Fel

Ans. A

Sol. * Polycot is a synthetic fiber. It is a
mixed fiber.

* It is prepared by mixing two fibers namely
polyester & cotton.

* It is used to prepare clothes.

* The fiber is almost pure cellulose.

15.FAARHT H BT & |
A §A HR H@EC fohg fafdes oA
B. fafdiest ok #Eg? fohqg @aW W&
C. TAET R AR GAT] FEaw
D. faffiesT X Uq WA HEAW

Ans. A

Sol.

FANR® ded 9 Affies oA awa €
STet Uelar & J&ar A gidr g
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16.JGage @ Th IAEh/Ales
gl

A. i

B. Qs

C. Trsefaas

D. TegHfags

Ans. B

Sol. Uraninite is an ore/mineral of Uranium.
Ore of various metal

Zinc- Zinc blende

Aluminium—Bauxite

Titanium- ilmenite

17 8e0ahaR &1 SO feeam eemstar gt kg
o g g F §ar @ar &2

A. 3

B. siSgrolel

C. 3ifedrsteT

D. gssieid

Ans. D

Sol. The upper part of the Hetrosphere is
composed almost completely hydrogen gas.
Heterosphere includes exosphere and most
of the thermosphere layer.

18.FAfaf@d deal & ¥ frasr Ted &
T &7
A. aifsax
B. fea
C. @
D. IzT#H

Ans. C
Sol. The melting point of Radon is -
71.15°C.
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The melting point of Sodium is 97.79 °C.
The melting point of Tin is 231.9 °C.
The melting point of Radium is 696 °C.

19.fFf@d & @ S @1 agT gifaer
Sy o A £7

A. Rafes 3

B. wdie=

C. &drelie

D. o

Ans. B

Sol.

SieT diferer & THie Hisig 81 Siel difel Teh
YPR & Aelfhele Igesh § ol o TAT T
Telel aTelt et aArge diferer g1 fafaa arger
qiferer T Jeiell # SeT difoll &l gel A 3t
Aol g1 Thell g1 Ig 316 ¥ Ugg e doh
JEY THIH H ARG 1 e & a1e AN
W dR-UR ATET F Fedr g

20.519 T S 3R v P FelT F gla har
ST & d9 F7 giar g7

A. I UF FATST W el FeT 9Ied gl &
B. g3 180 372l WX ar ey ured g ¥ |

C. g @ 3uH # ofa a7 ured B ¥ |

D. I e & ¥ ARG IR war wred
gl ¢ |

Ans. B

Sol.

39 tE S AR us P 3ifded el @ §
ar gF 180 B w ar 3iifsca Foa €
3MUTfaes TTTAT T ATEAT e & fIT HRIOT
&1 Ig ufhar Y& T A §, IR TE AqeT0or
AT § 5 Frafaes A F Fee Hor 109,
120 a1 180 39l & +Aa &

=
.
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21.NaCl &

A. Iy 9y

B. ¢dia Fgadrs et
C. uifcas ser

D. 3afae sy

g ¢ |

Ans. D

Sol.

NaCl # 3mafas s giar g1 Ig Teh TR &l
Tafes s § S ar fAuda s3mafa sma
3o FT &1 ASTH WA Teh Folagiel
FT AN FAT §, 3 9T (Na*) ST §,
3R Felllil WA Teh goldeld FGOT Hleh
FOMAL (C) FATGT §1 T FHOMAT TH gaEX &
AR IHa ga § 3R Afsad FeREs s
gl

22 frdll WA & ITaad I TR A BUd
goFelAl T gl el ¢ |

A. TATSTHRAT gk

B. s&fT dica

C. TGASTHhdT Solaeid

D. & selacia

Ans. C

Sol.

e Electrons in the highest energy level of
an atom are called valence electrons .

e Valence are outer shell electrons of an
atom which mostly participate in the
chemical bonding of the atom.

e The
determine its chemical properties such as

presence of valence electrons

valence and its electronegativity and

electron affinity.

23918 T &
A. AlARRIH 3iFarss
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B. GreleRI#A 3iferarss
C. ggaRzA 3iterarss
D. Rf¥uw 3ifearss

Ans. C

Sol. Heavy water is Deuterium Oxide. It is
the water in which the hydrogen is replaced
by the isotope deuterium having more
number of neutrons and is used mostly as
a moderator in nuclear reactors to slow
down fission reaction.

24AFIf@d deal & dg ¥@9d SI1Er
fagaaoTeHs e §7

A. dfermH

B. @ifsTH

C. 3mifas

D. @fag#

Ans. C

Sol. Arsenic has the highest electro
negativity of 2.18. It is the tendency of an
atom to attract a shared pair of electrons
towards itself. Higher the tendency to attract
electrons, higher is the electro negativity.

2550 A ToUd 3HFT FT A TASY ?
A. BIERIRNG HFeT

B. @reffaeh 3

C. Oisfesh 3Fd

D. #foe 3

Ans. C

Sol. Acid present in lemon is Citric acid. It
is mainly present in the citrus fruit and it is
wark tricarboxylic acid. It is present in
lemon, grapes and orange.
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26 fAeAfaf@a & @ @i € FshAoT T3 A
T fIwar FEr g2

A. SoFCied @lel &1 gddr

B. & faYd RUMcHA®

C. &H HIAHIOT FaAr

D. deadr

Ans. A

Sol.

3-12 |Gl & dcal &l HHAUT ded, AT HHAUT
Org FE S gl 3FAT soEerr @
IIASAT & FRUT, Tg UTJH HgHAoTh a8
¥ gl 8l IoRd §l 3H AR, oI
faehetl # & gelarciall & AT & Y, ThAvT
T3t T faRIvar e g

27 TR TR HTE |
A. ydig

B. mafas

C. Tgudash

D. 3rgydy

Ans. D

Sol. A molecule may be nonpolar either
when there is an equal sharing of electrons
between the two atoms of a diatomic
molecule or because of the symmetrical
arrangement of polar bonds in a more
complex molecule. Ethylene(C2H4) is a
nonpolar molecule because, unlike a polar
molecule, it has an even distribution of
electrical charges.

28.31F & SN # Ffaf@a & @ Sig @
T Il 872

A. 3 TN o & H+ 30T 2a ¥ |

B. 31T 3T & gEsiete g § |

C. 3 el foeHAT F1 o1l a1 S § |
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D. 3 Sy fderget # faegd & Faree

Ans. D

Sol. An acid which strongly conducts
electricity contains a large number of ions
and is called a strong acid. Acids in
aqueous solutions will conduct electricity
because they contain dissolved ions. Thus,
acids are good conductor of electricity in
aqueous solution. So, Option D is false

about acids amongst above given options.

29.9181 qreX &l
o arar ar |

A. faareR qEhre
B. A% TEcar
C. U¢a W3fiaA®
D. Si&g fa3iere fCasuest

CanT 3TfavhR

Ans. B

Sol.

JrEr e} (38 FERCS TET, FHElAes 9T &
AT T W I §)TF TR & U § o
FIeT 318 AFASS AT A a1 & IFAd gl
H O SATT &1 37 9fhaT HI HIaIhiol dhgd
¢l 389 el & & Joldol 354 g1 SHT @i
SAE W o 1767 & & oY 3egia g &
FIeeT 1S FASS ©ielad T Ifshar da @t
S 37glel 9!, 3908 H 9T d¢ & IR TH
HERT Tl e[|
30.§ieaTEC H TH IR § |
A. TgRAfATH

B. aRkferg#

C. @8

D. fe=t

Ans. A

=
.

8

$

gradeup

Sol.

¢ Bauxite ore is the world’s primary source
of aluminum.

first be
processed to produce alumina (aluminum

eThe ore must chemically

oxide)
e Alumina is then smelted using an
electrolysis process to produce pure

aluminum metal

31.AIATISC__ F T ATHh/TfAaT g
A. IRfergA

B. sifazs

C. Hweher

D. &Y

Ans. C

Sol.

o AIAATST, HIGAIST &1 T 3EH/ Ghoiot g
o U8 T Tfalor § St e 3R ohexrse, Alge
ger # 9w S gt Heeler  3ieanss-
gregiFarss @iast ¥ s a1 §l

o 3T TAWT JfATRAT & a9 W F v
3RE & FT A FAT AT § 3R Ig g5
FH FLeT 3R T T 3G Il H 30 A
T gl

323IATATSS H __ gdRT faser fhar
T o |

A. ST-TeT Afele

B. 3Toths Aldel

C. JIR% ASHHR facd

D. 23 AedsT

Ans. B

Sol. Dynamite was invented by Alfred Nobel
in 1867. Dynamite also known as blasting
agent is an explosive made of nitroglycerin,

*# |/ Gradeup S5C & Railway Super Subscription
Access to all Structured Courses & Test Series


http://www.gradeup.com/

www.gradeup.co

sorbents such as powdered shells or clay
and stabilizer. It is mainly used in mining,
quarrying, construction, and demolition
industries.

33.frdr Taafas AT # e 3RS & F4T
P 82

A. RS $r Tafas Far 1 aRafda Far ¢
|

B. R T st Foit H gRafdd &ar § |
C. 3curer Fr feufast Far = aRafda a=ar
e |

D. Ofhaor Foit & aRafdd aar § |

Ans. D

Sol. Catalyst changes the activation energy
in a reaction, which is the minimum quantity
of energy which is required to undergo a
specified reaction. By putting in a catalyst,
reaction gets an alternative pathway, which
then reduces the time required for attaining
reaction.

34.FT @ Uy Ao & FT FORT T
faerar &2

A. Fieaad 3iFaEs

B. 3R 3iFA183

C. Hifays 3Fass

D. He 3iFass

Ans. C

Sol.

S PIATA 3iFqss I wrag § Berd § ar
&0 T @IS &ar g1 30 g & W[ Tofe &g
F TH dledTcaAs 3T v ad &1 sTH
faRed wIfAgs 3ifearss, e afFaerer @
Toie ¢ AR 38 3% digar # Aae W g
Frerm 7 o &ar g1 39+ JfaRked o9 s fea
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JTarss 3R R & 9y Aemrr Jar §
ar FT T T Gooll &L 9T FT & AT &

35.fFAfaf@a dcat & @ g et qad
wH 8?

A. HIfATA

B. gS3ielel

C. &%

D. e

Ans. B

Sol. Hydrogen has the lowest melting point.,
melting point of Hydrogen is -259.2 °C.
Hydrogen is a chemical element with
symbol H and atomic number 1. With a
standard atomic weight of circa 1.008,
hydrogen is the lightest element on the
periodic table.

36.7TE &I diell & X 9 F7 oemar SArar
8?7
A. ool HBIERRA
B. %hg HIEARY
C. UrRRIIH FaRe
D. diefIe dethe

Ans. C

Sol.

e The head of safety matches is made of
an oxidizing agent such as potassium
chlorate, mixed with sulfur, fillers and glass
powder.

e The side of the box contains red
phosphorus, binder and powdered glass.

¢ When the matchstick is rubbed against
the side of the matchbox, some of the red
phosphorus is converted into white
phosphorus; this immediately reacts with
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potassium chlorate in the matchstick head
to produce enough heat to ignite antimony
trisulphide and starts the combustion of the
matchstick.

37 FHomrse FI Th ATH/ATAST §
|

A o3

B. #HeireT

C. IFgY

D. &R

Ans. D

Sol.

NEIRICE IR ER

Cu,CO3(OH),

HoTHEe TH g didT FEIC gEFASS
gleer & Gud  aefae G
Cuz(CO3)(OH), Bl I dle & I T 3cdres
FA dlel FIH Ugol ATH H § T AT Ig
did & eI $T 3cUleed Fal dlel Tgel ITEHI
HATFH AT dE F IS & & H A Tg
AT Aged & ¢ FAifdh T§ AHAN W HH
AET H 9T AT § 3R 3T IR & 39T
& TOT 3Tg FAAT R AT ST TohaTl 2l

38.Ffaf@a & & HiaT a1 v FHOT IS
gram?

A. afg 3aF Wie| T 3% soacieq g
B. afg 3&# =ggia & e saacid ghr
C. afg 3T saacl-a & 31« dieia gt
D. afg 38 ygiw & 3w wicta gher

Ans. A

Sol.

1
.
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e Protons, neutrons and electrons are the
tiny little particles which all atoms are made
of. Protons (p+) have a positive charge,
electrons, (e-),have a negative charge and
neutrons (n) don't have any charge.

e But
electrons, so it becomes a positive ion,

sometimes an atom can lose
because there are now more + than -.
Some atoms can gain extra electrons,

becoming negative ions (more - than +).

39.%%&'@%%@%
gfa@ca sear &2

A. dreiEaRe

B. grfergmdeie

C. reiiceFaRisiAafaa

D. urehfafered Qywdele

Ans. C

Sol. Polytetrafluoroethylene (PTFE) is a
manufactured fluoropolymer of
tetrafluoroethylene  that has  various

applications. The best known brand name
of PTFE-based
Chemours. Chemours is a 2015 turn off of

recipes is Teflon by
DuPont Co., which found the compound in
1938

40. TofATIH ATSerSs &1 A (we g an
g2

A. AIN

B. ALN

C. AN

D. AN,

Ans. A
Sol. AIN is
aluminium nitride. Aluminum nitride (AIN) is

the chemical formula of
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a technical ceramic material that features
an extremely interesting combination of very
high thermal conductivity and excellent
electrical insulation properties.

41.31ed 3 raeur # dReRIH 3 w1 g
F7 g2

A. K

B. K*

C. K*

D. K

Ans. A

Sol. The formula of potassium ion in the
noble gas state is K’ Potassium is a
chemical element with symbol K and atomic
number 19. Potassium is chemically very
similar to sodium, the previous element in
group 1 of the periodic table. They have a
similar first ionization energy, which allows
for each atom to give up its sole outer
electron.

42.%sTATA A M [EREAS HqA
N

L Cd(NOs),

5 CdNO,

¢ Cdz(NO,),

5 CdNO,

Ans. A

Sol.

o HSTAIA A5 F TEAEE T Cd(Naj)& |
o SHHT 3. M.CH. A FsfATA (1) dAs¢e
gl

o 3
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A3 Fef@d & @ R g@edffd W Fga
87

A. o=

B. AR

C. A=

D. 3mzaifoT

Ans. C

Sol.

» e TafRe RRran, e ik
Jsar & Ay HAeE W & S FET &
FgehIARRUT EaRT ScuTfe gl &

+ 3EH 3UAT IAfAfE AT (FerS, gt
3nfe), fastel & segeier, daafed he o
3R et gfaReh A & &0 & Far Srar g

44 TSI $r Tt forger S A2
A. Frer efrer

B. g

C. &5t §97

D. [afermew

Ans. A

Sol.

Frel el 3R Aw dece A el dr
@t 1772 & Fr Y| 3o e qaafas
dea § foeehr TRAT] wEear 8 3R geliE O §l
Ig Iaf¥s afhy § S 39T deal & Iy
N @ HFASs Selrar g1 Fg AU § IR
Shic 7 AT ey A Em &

45 9Tohicieh (X & aR # fAe=iai@d & & it
o 91T 3\ &7

A. Ig THh SACIF ¢ |

B. 75 &9 SETVA &1 T AAA § |

C. wipfas I FeRIMT & TH Fgorh
(dTela ) & |
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D. 8% Ul # R o & AT 58 T
At F Ty e AT S § |

Ans. B

Sol.

Uhfceh TR 9st & oeed dY & uitd Tk
aﬁwmﬁ%mgﬂﬂdﬁa%wﬂ:w
Iyl & T 3= g 3R iR F Asdr
g1 Ig Tewx At & @y IR fRar Sirar §
difeh a8 Ga 1 T T &THdr 7 YR
& IR 3w Rl & @aEr 7 ranh @
&1

46.FAFATATET deal & & fhaer gaq@ &A
I 872
A. wifeas
B. HIeel
C. FldTec
D. feheeat

Ans. D

Sol. Krypton has the lowest melting point.
Krypton melting point is -157.37 degree
celcius. It is the member of noble gas
whose atomic number is 36. It is mostly

used in lighting and photography.

473 aelt & giewr Tl & aF 39 giieer @
AT g AT S Hehell ¥ |
A. Tthealt

B. el

C. Hisha AR

D. Ay =AT8eisld

Ans. C
Sol. Activated carbon, also called activated
charcoal, is a form of carbonprocessed to

have small, low-volume pores that increase

=
.
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the surface area available for adsorption or
chemical reactions. Activated carbon is very
effective in removing bad odour from air or
water. Activated carbon can also remove
bad
activated carbon used in air and water

taste from water.This is why is

purifiers.

A8.T% SI9 FIAUHIA & HUG H AT & ar
BrESTe, # ufkafda g Smar & |
A. FERIBIH

B. wHiel

C. sl

D. Siftells

Ans. A

Sol.

BIEsleT (COCIR) weh Tarafas Afw
Ao &1 3ufedfd & oudiE  (FE)
afRor sree W, FARWE dR-E8R T 37
JTARRAT IRT BIEseT 3 qRafdd & e &,
3H 9fhdT H EISSIFIRR3FT (HCL) HFd
T g

2 CHCI3 + O,— 2 COCI, + 2 HCI

4991 H gegA AR Col
STATT U FATT a1l & |

A. =gl

B. selerre

C. 3T

D. & & IS 77gT

Ans. A

Sol.

e Protons and neutrons have nearly the
same mass while electrons are much less

massive.
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o If we assume that a neutron has a mass
of 1, then the relative masses are:

¢ Neutron = 1.

Proton = 0.99862349.

50.PVC &l qoT &9 & §7?
A. BT ST Frefac
B. el faaiger g Fefae
C. dTell e FEfae
D. 9rell [aSel FaRESs

Ans. D

Sol.

AL E. F QU A del [Aerse FeNgs B
IE T YATCAReH ¢ off U AR [aergel
FeIRTSS CH2=CHCI & SgellehivT @R S
ST g1 davE. I e W HeraH 3R Sar
el W T&T & Sar g1 IR H gor, e
afdfshdTcHedT, 3T & 3R JeRiadeigar
SIE 9Ol & HROT SHHT FAT 9159, faegd ar
Qe I H Far Srar g

51.0IATH gIggiehrael & OB H &F T HA
SofteT &7 g @ Ry g ¥ |

5% %4

Ans. D

Sol. Aromatic hydrocarbons contain at least
one benzene like ring in their molecules.
Aromatic compounds are made up of
benzene ring structures with delocalized
m(pi) electron density that imparts unusual
stability and strong odour to the
hydrocarbons. They are less reactive and
useful industrial solvent produced from

3
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petroleum and coal tar. Example:

Napthalene balls.

52.5IATST F Th ATH/AfAST §
I

A. B+

B. Rfaas

C. sifaasd

D. erscfaas

Ans. C

Sol. Chromite is an ore of chromium and
an oxide mineral composed of chromium,
iron, and oxygen which has high specific
gravity and magnetic property. It is found
in ulta basic igneous and sedimentary rocks
and used as a refractory material, because
of its high heat stability. The chromium
extracted from chromite is used in chrome
plating and alloying for production of
corrosion resistant super alloys, nichrome,
and stainless steel.

53.5T8cleteT &7 @il ey dr A?
A s

B. fgstetaar

C.gh

D. TEI%IE

Ans. D

Sol.

¢ Rutherford discovered nitrogen in 1772.

¢ Nitrogen is a colorless, Odorless and inert
gas and has a chemical element with
symbol N and atomic number 7.

e And it is lightest member of group 15 of
periodic table.
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e |t constitutes 78% of earth’s air and is
also used as a fertilizer.

54 ToATAIH ATSeI$s & TAATS g a1
g2
A. AIN

AlLN
B. -

AIN,
C. :

AIN,
D. :

Ans. A

Sol.

¢ AIN is the chemical formula of aluminium
nitride.

e Aluminum nitride (AIN) is a technical
ceramic material that features an extremely
interesting combination of very high thermal
electrical

conductivity and  excellent

insulation properties.

55.fF® car &1 Us Uel-RTerdART & ¥ H
geT fFar Srar 872

A. HEFaThATEST

B. eRaeT

C. IAYUeSA

D. 3Ssgamrss

Ans. C

Sol.

NAUTHT BRI AHS cal §is Hl AT
T &, [T 3uAhT vafgTerdss, aEs 3R
TE-Adel &dl & & H [HIr Jar g1 3maenr
TelSil & S&TO AT & A9 &l Aehed 3R geTsT
& fov fARRa off o Foar B

o 3
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56.%dl 3T afeoal & Rua qfea siq ar
[ YeTeT T g2

A. &

B. erelT

C. &gt

D. sirelr

Ans. C

Sol.

Fer-FET gt 3R well, [T &7 F IR
3R e afesat & urar e arer are-AReN
guieh g1 der FAEA A1 Mk 376/ "der” 3R
dfesT "dIer (AIeR) ¥ form dr gl I
renn/aet ol S afesral AR Eal &t 390
Wi T & g

57 TeATeot e

A. 3FAIAT gT A § |
B. 3¢ g¥ & & |

C. GoTell T & § |
D. ool g & § |

Ans. B

Sol.

Teh WSTARIS AT e A6, 370 & g
HT I8 TEET ¢ Toraehr Ig=m sgrelr & o= &r
a& | TEd U & IS B

58.NaNo3 &l HHIAT fohd TH & STelT AT
g2

A. HTURUT dHS

B. aRad

C. faelr Ffecdiex

D. &%

Ans. C
Sol.
NaNo,&! frell dreediey @ga &
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atFw - NA,B,0,.10H,0

GIIROT 7H % - NaCl

Ans. A

Sol. limenite is an ore/mineral of Titanium.
The chemical formula of ilmenite is FeTiO3.
It is main source of titanium dioxide that is
used in paints, fabrics, plastics, paper etc.
The color of limenite is black or gray. it
contains high resistance for weathering.

60.f3%eT 7 Rretet gTSgoeT AT A1 ¥ 2
A. 22
B. 33
C. 11
D. 44

Ans. A

Sol.

5T 7 FEPe & 22 WA @ & ;g
reler 3R FATEA &1 T Bl Tg Th Iy
faomaes &, S 9l # srgeerie ¢ 3R smae
¥ eI gl mﬂmﬂﬂ C1ohpo8TeT
gl

61 SEFARISEFARIANT & IHAT AT
N

A. el

B. W3

o 3
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C. focaH
D. IReg
Ans. B
Sol. Common name for

dichlorodifluoromethane (R-12) is Freon-12.
It is a colorless gas.

e |t is soluble in many organic solvents.

e Dichlorodifluoromethane was one of the
original propellants for Silly String.

e R-12 cylinders are colored white.

62. 3Mgd ARV &1 JfashR fhaer fohar a1?

Ans. B

Sol. Dmitri Ivanovich Mendeleev was a
Russian chemist and inventor. He
formulated the Periodic Law, created a
farsighted version of the periodic table of
elements in 1869, and used it to correct
the properties of some already discovered
elements and also to predict the properties

of eight elements yet to be discovered.

63.farfafad dcat # @ g wamy FEar
FARIeT T Jolell 7 3Hfeh §7?

A. |ifsas

B. sRkferasr

C. ssereleT

D. aRe

Ans. A
Sol. Atomic number of Sodium is greater
than that of Fluorine
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e The atomic number of Fluorine is 9.

e The atomic number of Sodium is 11.
e The atomic number of Beryllium is 4.
e The atomic number of Nitrogen is 7.

e The atomic number of Boron is 5.

64.FFfaf@a # ¥ 9 qu & wee g &
aRka aar g2

A. tiafes tids

B. aisfecs whas

C. TTalTsish TS

D. afFes wfas

Ans. D

Sol.

oY H IHHCIIUI &l Wl qY 3cdricd
forar Smar §

o TeaT gy ol gEAsidrl & gece @ a1 3Hh
Qe & 3 & @Y7 ¥ A= Sar §, &
fafse &9 & 3ehd gy &gl ST &

o AfFeh HFEA/GIUTET T WA IHATHIT
fshaT & AT # o S g

65.8T33IoT WRIFATSS HI ATUROT ATH FIAT §72
A. IRFH

B. selld ()

C. sfehar @rer

D. Scaa

Ans. B

Sol.

g3l RIFHISS & AT ATH el 9 H
SOl &1 ST 39ANT Teh HFHISBoR, sellfdar
Tole 3R tdaftes & ®9 & fRar Sar &1 I8
TERfAs 3 H0, Bl 386 W™ AT W
g% ITEUX WIFHASS T8 T Jpfd HT Tefcd
gl
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66.hTeeT IFARISS A HIS afaya gl F4t
6T 87

A. T AR FAdT & RABPT & FqAGT
3THRT & HROT

B. [afAd eTgse TITAT & HRUT

C. TAdS TIIAT & SR

D. e 3R Fle & THATT SoiFel YT
& HROT

Ans. B

Sol. Carbon Tetrachloride has no dipole
moment because of regular tetrahedral
structure. As each of the four C-Cl bond is
distinctly polar but the resultant moment of
any three of them is equal in magnitude
and opposite in direction to the moment
due to the fourth one. So, the molecule's
net dipole moment is zero, and it is non-
polar.

67.faFAteriad It & dg 7 & fFae =g
HSIG FTS3IoleT a8 §7?

A. HI

B. HCI

C. HF

D. HBr

Ans. C

Sol.

HF # @8 #Ased g@gloe Y gidr &l
grsgiolel AR Tl & dra g weadisis
S gl

68. TR 3wy 7 forg e &1 3TANer
T Srar 72
A. TRaaRe
B. faifeveT
C. FaRIFasT
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D. Terf@s

Ans. C
Sol.
drug. Chloroquine was discovered in 1934

Chloroquin is used in Anti-Malarial
by Hans Andersag. It is commonly used in
areas where malaria is common. Malaria is

a caused by parasite.

69.FAR T Us AR/ §
A. o3

B. #uiet

C. AlfolesaA#

D. AT

Ans. D

Sol. Cinnabar refer to the common bright
scarlet to brick-red form of mercury (ll)
sulfide ( HgS) .
source ore for refining elemental mercury.

It is the most common

Cinnabar generally occurs as a vein-filling
recent volcanic
The
mineral resembles quartz in symmetry. It

mineral associated with

activity and alkaline hot springs.
has a mean refractive index of ~3.2, a
hardness between 2 and 2.5, and a specific
gravity of 78.1. It has a structure that is
like rhombohedral crystalline lattice.

70.fFfRf@a # & fRaer gaeT gerer &
3cutest # AR rg3it B afeser e & grar
&7

A.

B. tfadrelet

C. T

D. 3MaFaifeleh 31l

Ans. B

=
.
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Sol. wEIfEeNeT 1 gAler, argt H Sse A
I 3cUeed Pl H fohar STar g1 et
F Ty TR FT ggaT ThIA 3ced HIAT
gl 3T AT ged SaderRld qrEeT
suel ¢ 3R Ig e @ erepr-afeser, arg
A I 3R ST o A AR e Fr e
el AR 3egied el & T ot &7 gaHr
gaer fRar ST g

71.33arpea 3féor dseite @1 3UAET fRE
forw fRar Srar 872

A. fATE & HeNUT &1 AT o T & forw

B. WIffled & dlell i AT #T 3HeaTd o9
F fow

C. BIffeq & 37 T AT A & fow

D. fREE &Y [uTadr T Ul o9 & o

Ans. C
Sol.
determining the age of an object containing

Radiocarbon dating is a method for

organic material by using the properties of
radiocarbon C14, a radioactive isotope of
carbon. The method was developed by
Willard Libby and won Nobel
Chemistry for his work in 1960.

Prize in

72.9fRaT AYST FAT gam g7
A. TegHIfAIH dehslae
B. OIfsa#® 3maa@de

C. QIf3yH dIsHEie
D. TegAfags Ferthe

Ans. C
Sol.
name for baking soda. And has a chemical

Sodium bicarbonate is the chemical

compound with the formula NaHCO:. It is
made up of salt composed of sodium ions
and bicarbonate ions, and is a white solid
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that is crystalline but often appears as a
fine powder. It is mainly used for household
cleaning purpose.

73.f79 garafae A & 'Oil of Vitriol' &
& H off ST AT B2

A. HforrId gregaaEs

B. HeUgRah 3Fe

C. By 3iFass
D. FfoRIH gs3Es

Ans. B

Sol.

d FeHIRS 3T F GavIH g0 ATd F
a9 ¥ g @ ureq fRar war St R
fhecelletoT & Sd § JFd IRRA Tehe
(FeS04.7H20) giar & safaw & & gareor
E3, WeRRE e T W g 3N gEd
39RYTT & HROT 30 g e F dd Fer
STet o9

74 Af3TA FEfae FAAR W 3 A T S
ST &

A. afSeT AT (@ ST ANET)

B. &) &1 AaT (arfRier A@var)

C. Hifca AT (GTeh TIET)

D. ®If¥ce JIerer (gTgsh AleT)

Ans. B
Sol.
domestically for its everyday use as a water

Sodium carbonate is well known
softener. It can be extracted from the ashes
of many plants growing in sodium-rich soils,
such as vegetation from the Middle East,
kelp from Scotland and seaweed from

Spain.

75 8T T3t &7 0T AT §?

=
.
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A. A & JYAT W AT 3R

B. &#f & YA WX arsdishd Bl &
C. TaeIId Hl IR & Ired aar &
D. galagicd I AT & OIS &l &

Ans. D

Sol. Alkali metals can easily lose electrons.
They readily lose their outermost electron
as they have only one electron in their
outermost shell, so it becomes easier for
them to lose one electron to form cations
with 1+ charge, instead of gaining electron.
Because of this, the alkali metals are all
soft, reactive metals at-

shiny, highly

standard temperature and pressure.

76.vRafe®w whas &t
A. FIfEes dlsr
B. faRRe

C. afFer AT

D. faar

gl ST & |

Ans. D

Sol.

tfafes 3 &1 F & 9 & A&7 ST
UfAfes 3ol &1 3M0Mds I CH;COOH gl
tfafes e T RAew wefrafas s §
3R TR ffeds & ® & Far Srar
¥ vfafes 3Fa, o0 dass e 3R e
FrefFafas 3 Y Fgr ST §, T T
aog g § e O 3R R[(fse deor ik
e e giel g
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